For non-verbal reasoning test, the questions told you to complete the figure looks like
this:

Example
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The answer is a, because the upper left one is enlarged to become the upper right one.
Thus, the lower left should be enlarged to become the lower right one.
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Task 2: Complete the following example questions

Reflection: One shape is the reflection/ the mirror image of the others.
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Reflection: The mirror does not necessarily put horizontally or vertically; it could
be diagonally.
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Rotation: (A part of) One shape is the rotation of the others.
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Moving: A column, a line or a shape is moving.
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Task 3: Practise Questions

Work through the following practise questions independently. Time how long it takes you to

complete the questions.
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